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19,868,284 17,564,234 2,304,050
= 3,298,357 3,254,342 44,015
521 AF2I T s 1,893,762 1,893,538 224
= 330,000 330,000 0
= 1,120,688 1,112,538 8,150
- 13,226,013 10,973,816 2,252,197
168,345 41,145 127,200
NASEES < 6,000 6,000 0
[ 162,345 35,145 127,200
168,345 41,145 127,200
&2 = 6,000 6,000 0
s 162,345 35,145 127,200
EEDEE 34,545 7,345 27,200
201 LBt 30,245 3,045 27,200
01 AtS2teltl 7,845 3,045 4,800
Odtds =E=F =2 400,000& +x12& 4,800 0 4,800
02 23293l 22,400 0 22,400
OBANMBLIINN SHEEE
1,400 *4,00021 *4 3] 22,400 0 22,400
=83& 50,000 0 50,000
207 & 51JH | 50,000 0 50,000
01 A1E4Y| 50,000 0 50,000
O=YZH PATIHY BYHTA 8Y
50,000,000 * 14! 50,000 0 50,000
ECEEDEE 50,000 0 50,000
207 A 1IHEHI 50,000 0 50,000
01 AE9H| 50,000 0 50,000
Oade 2aAB2INE 4
50,000,0002 *14! 50,000 0 50,000
1,652,518 1,124,379 528,139
= 9,500 19,500 0
=T 2Ztel s 478,002 478,002 0
< 47,800 47,800 0
= 1,107,216 579,077 528,139
A= KX 82,514 54,375 28,139
Oisa== Y As=H2tel 82,514 54,375 28,139
201 LEr2IH| 59,639 31,500 28,139
0 2z=29| 57,139 29,000 28,139
OZOIM4E LA L SR
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= 19,500 19,500 0
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OrSa=% HE 575,000 75,000 500,000
401 Al EHIZL 20| 575,000 75,000 500,000
04 AIEHI 570,410 75,000 495,410
OZol4=Z A2 =27y
3,333,333& *3000 & 100,000 75,000 25,000
Ot 20/4+5 i
30,000,000 * 14! 30,000 0 30,000
OUAS0IE 44T HHBA
39,568,000 * 14! 39,568 0 39,568
OUZOIE 44 HEZA
39,568,000& * 14! 39,568 0 39,568
OFoI0S 445 HHZA
59,460,000 * 14! 59,460 0 59,460
ONZEDIS 445 HHBA
59,460,000 * 14! 59,460 0 59,460
OZR0IS 44 HHZA
49,460,000 * 14! 49,460 0 49,460
ONTHIZOIE 445 HABA
24,730,000 * 14! 24,730 0 24,730
OUADIS 445 HHBA
49,460,0002 %141 49,460 0 49,460
OUEIDIE &4 HHZA
19,784,000 » 14 19,784 0 19,784
OOFR0IE 445 HETA
39,568,000 * 14! 39,568 0 39,568
OHBOIS 44E HHBA
19,784,0002 ¥14] 19,784 0 19,784
ORE0IS M4 WHBA
39,568,000 14! 39,568 0 39,568
06 Al&=0i4 4,590 0 4,590
Q=0IE A4E JHAEBAF
40,000,000& *1.08/100 432 0 432
OUHOIS 445 HEZA
40,000,000% *1.08/100 432 0 432
o208 44 HEBA
60,000, 000& *0.9/100 540 0 540
ONZEDIE 44T HEBA
60,000, 000& *0.9/100 540 0 540
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= 22,210 22,210 0
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HIISEeHE 2Y 492,981 411,981 81,000
201 2Et2FH| 101,637 95,637 6,000
01 AtS2teltl 21,000 15,000 6,000
OHJIZEE M B2 EMS U =Y Xt
400, 00021 %504 <63 12,000 6,000 6,000
401 Al EHIL 2 CHYI 80,000 40,000 40,000
04 Al 80,000 40,000 40,000
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500, 000& »160m 80,000 40,000 40,000
405 K& F?‘—l% | 237,000 202,000 35,000
01 ML =SSF=HI 237,000 202,000 35,000
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30,000& *2,00071 2= 120,000 60,000 60,000
OHIISESHN=ZERUCANREAR
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- 2 6,030 6,030 0
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i 50,380 47,380 3,000
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50,000,000 *0.9/100 450 540 A90
405 KHAHF SHI 45,000 30,000 15,000
01 ML ESSFH=HI 45,000 30,000 15,000
OHges&d+7g 30,000,000 = 1CH 30,000 15,000 15,000
S5 E4 2tel 64,091 60,000 4,091
101 1244 4,091 0 4,001
10 JIZtH22HSES 4,091 0 4,091
OZEs A EEXA LAAROIR
34,0903 60 x2H 4,091 0 4,091
7,123,888 6,959,658 164,230
- 1,759,827 1,715,812 44,015
28 L35t s 1,415,760 1,415,536 224
= 714,678 706,528 8,150
2 3,234,159 3,121,782 112,377
2,937,177 2,862,750 74,427
- = 1,521,861 1,477,504 44,357
< 344,325 336, 131 8,194
o 1,071,527 1,049,115 22,412
128,687 140,059 A11,372
S = 90,081 98,041 AT,960
< 11,581 12,606 A 1,025
s 27,025 29,412 A2,387
123,623 134,862 A11,239
= 86,536 94,408 AT7,867
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= 11,126 12,138 21,012
[ 25,961 28,321 A2,360
10 JIAH2RASEA 23,623 134,862 A11,239
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= 1,680 1,400 280
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ORI X & 01 bl 1,661,000 %171 2t 1,661 2,397 AT36
= 1,163 1,678 A515
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= 18,570 18,570 0
2 91,524 91,524 0
o1 s 2,134 1,085 1,099
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71,3332 %300 4 2,134 1,085 1,099
2 2,134 1,085 1,099
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. 2 362,547 301,850 60,697
= 72,474 62,085 10,439
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534,921 453,100 81,821
= 308,693 258,830 49,863
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= 67,858 58,335 9,523
- 58,906 135,935 22,971
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3 21,466 0 21,466
= 1,840 0 1,840
= 3,995 0 3,995
06 Al&=Chyl 3,893 3,239 654
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E 10,771 8,600 2,171
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= 10,771 8,600 2,171
180, 138 193,680 A13,542
= 127,069 136,548 A9,479
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= 15,920 17,140 A1,220
- 37,149 39,992 A2,843
155,318 168,344 A13,026
= 108,723 117,841 A9,118
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- 32,617 35,352 £2,735
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= 1,942 1,989 A4z
= 4,53 4,640 A108
21,580 22,096 A518
2,397, 777292 21,580 22,06 A518
2 15, 106 15,467 A 361
= 1,942 1,989 A47
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33,193 30,693 2,500
31,493 28,993 2,500
31,498 28,993 2,500
500, 0002 52 2,500 0 2,500
4,186,711 4,096,908 89,803
2 237,966 238,308 A382
B 1,415,760 1,415,536 204
= 370,353 370,397 A4
= 2,162,632 2,072,667 89,965
64,415 64,134 281
o C Al B 51,000 50,776 224
E 13,415 13,358 57
2,030 1,749 281
101 Q1214] E 1,624 1,400 204
- 406 349 57
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. 1,624 1,400 224
E 406 349 57
NEEYREHPS 83,636 33,636 50,000
401 AIEBIL 20 b| 70,000 20,000 50,000
02 &AI&HY| 20,000 0 20,000
OF & & SHRME LAY
20,000,000 14! 20,000 0 20,000
04 AlEH 50,000 20,000 30,000
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783,760 783,760 0
AHE MBS X A = 564,760 564,760 0
[ 109,500 109,500 0
= 109,500 109,500 0
83,760 83,760 0
401 A& HIZ =] = 74,760 74,760 0
[ 4,500 4,500 0
o 4,500 4,500 0
04 Al£HI 83,006 83,760 AT54
OdE=MENDIS TS (MEEH)
83,006,000 * 14! 83,006 83,760 AT54
s 74,760 74,760 0
[ 4,500 4,500 0
o 3,746 4,500 NT54
06 AlE=C0HYI 754 0 754
OXEMENDISES (AEAA)
83,760,000 +0.9/100 754 0 754
71,087 71,565 N478
A AHASE = 50,054 50,396 N342
== 6,307 6,351 N4
Ea 14,726 14,818 A92
71,087 71,565 A478
= 50,054 50,396 N342
101 2124 4|
== 6,307 6,351 N4
o 14,726 14,818 A2
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=L A2 Y 11,385,500& x2H 22,771 20,513 2,258
= 17,701 17,701 0
[ 2,276 2,276 0
= 2,79 536 2,258
O=Z At 20d] 1,756,500 x2Y 3,513 3,844 A 331
= 2,459 2,691 A232
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i 738 807 A69
O=2AXANEE2 1,258,000 x2H 2,516 1,000 1,516
O A=X&ed2ge2Y
45,0002 x2532 14 11,385 12,643 A1,258
= 8,850 8,850 0
< 1,138 1,138 0
= 1,397 2,655 A1,258
O A=X&e2g20] 1,100,000 1Y 1,100 1,169 AB9
= 770 818 A48
[ 99 105 A6
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= 231 246 A15
OMZMEHDIS2F LI
45,000 x253 x 1H 11,385 12,643 A1,258
= 8,850 8,850 0
[ 1,138 1,138 0
= 1,397 2,655 1,258
OLZMEHOIS2Z LM S|
1,110,000 1Y 1,110 1,168 A58
= 770 818 A48
< 99 105 AB
o 241 245 N4
OMXEEXIZLIEHE 14|
45,000 x2532 * 14 11,385 12,643 A1,258
= 8,850 8,850 0
< 1,138 1,138 0
o 1,397 2,655 A1,258
OMXNEEX2LIEH LI
1,148,0002 1Y 1,148 1,168 A20
= 804 818 A4
[ 103 105 N2
o 241 245 NG
MEAS FRI=R 251,000 211,000 40,000
401 AIEHIL S0 211,000 171,000 40,000
04 A&l 211,000 171,000 40,000
2y s 2F M= 40,000,000 * 14 2 40,000 0 40,000
9,557,366 8,249,306 1,308,060
= 1,513,000 1,513,000 0
Hegs(szag) & 330,000 330,000 0
[ 330,000 330,000 0
o 7,384,366 6,076,306 1,308,060
LIS A X = 7,384,366 6,076,306 1,308,060
=EHNH EG3H =S 2,079,759 1,952,777 126,982
701 JIEIIHE ES 2,079,759 1,952,777 126,982
01 JIEtHEES 2,079,759 1,952,777 126,982
O==ZHESEIIHNAEES 2,079,759,000& 2,079,759 1,952,777 126,982
daxE EEHIH MES 5,219,607 4,038,529 1,181,078
701 JIEISIHNES 5,219,607 4,038,529 1,181,078
01 JIEt=IHEES 5,219,607 4,038,529 1,181,078
OUd+EEEINEES 5,219,607,000& 5,219,607 4,038,529 1,181,078




